0019-2020 224ERF T LR B ISR « HF

. T REH

L L lERe—T-EEHRK, S Al
< ) K, WIS LR (7
PRl RS

1700 2300
1 |

| | | | |

2. A9 |, FARER—ND o IXEENEEREIE ( A , BH

( ) R, B ( ) = ( W= (¢ ) () weeees ( ) (BB

: AR F,

: Py B G D) :
5 BT 5 Wy
ﬁ:
k 2 /

ﬁH‘ﬁHlZi 6 Rﬂu

,‘ 40 JUDEATE () AR,
J

3. (1D Eogiﬁ “sn U » gz “n

999 () 1000 24+8 () 9x9  5000—2000 () 600-300
1 Ex O 1 4% tkm () 1000m 614 () 11
() T ISR KE) N IR K.
5 ?9 660+ 6060+ 302, 1200
: ( > > > )

(CHEEE /1T 470


朝阳区�


T ———

[

BERE: BT ( ) 1o

b. TEHE S B & 49 L.
(1) KZEF/NBTHKEZ 230 ( ) o (2) KKZR 2 ( )

(3) aEEKLATHE 30 ( )% (4) B2 AKKRATE3 ( >
6. Ft—Ht. H—I.
WD BEKC Dem( ) mm
TSI, -
0 lem 2 3 4 5 6 7 8 9 10
(2) IXANERRE ( ) o, BHKIAKKEE ( ) , 4

Ma#fR ( ) o

7 RS MR,

Ll A [

@

. Bt O R Bify

(ZFERF B2 L4 )




i B wwd it

8. E—&, Hi—H. ol m%
/b R PR —— ko :
SHIRTEFRA ( )l e &=
( ) TR AL _Ei
( ) EERMAE. O we "
9¢%1EE%T%@%\%%\m&ﬂﬁﬁmﬁéﬁ,MTTE%EiiO
RE | &% | [ RF
M | mmu i
| i 1

() EARE. (O AR,

=, B&H
1. RSB
54+6= TX6= 35+7= 8X 5=

400+500= 950—50= 6000+300= 650—650=
6000+2000= 1500—0= 270+20= 5000—4000=
2. Bt 5.
426+123= 285+ 15= 47+7= ’
642—531= 843—314= 109—18=

(Z4EYE 3T 34 1)




=, REMWRIE
.

b

1 (1) Pl T $HIRE?

QO -EeS

ERIDE T E S

%

(2) MW TALRRAZWIREL D TKIBTE?

@1 Gt Rt L

e

b

(4B BAT 4T




